. NAE BN-IX;(VH-II_ [ =18=
. Time Allowed : 3 Hrs '_l(,éi}:,?i{g:;pg,;) Total Marks : 65
. {Question Paper 1)
Note: 'l‘hcrc' are THRE'E |sgclion's iu‘ t!\is_ .|5a'p"er\i.e.‘ A,~.]3 & C. Attempt scction A and ‘re.:tum it to the
* superintendent within the given time, : o :
Time: 20 Min SECTION -A Marks: 12
Q.No.l: You have lour choices for each objective type-‘qucsti_on as @, @, © and ®: The choice which
: you think is corrcet fill that circle in front of the question number, Use marker or pen to fill the
circles. Cutting or filling two or more circles will result in zero miark in that question.
i Standard form of 0.000313 is ' o X
® 31.3x10* ® 3.13x10" - @ 3.13%107 " ® 3.13¢10%
i, ' is not u heat insulating mauérial. ‘ '
@® Wood ‘@ Soltiron © Rubber ® Plastic,
i, kg x li/sec? = - .
@ | Puscal | ® | Watt -Q. | Newton @ 1Joule
v, The Si unit of lemperuture is |
® o o ® C © K ® °F
v, A lkg mass hus a KE of 1 joule when,its speed is__ -
L ® 0."!5111/5‘:(.: ) 9 lu/see © dJd.4dmfsee @ l.4mfsec
vi. How many cubic centimeters are therc in a lites? .
& loem' @ 100cm’ @ 1,000cm’ ® 10,000em’
vii. Therate of change of velocity is called
@ - Speed (D Distance ® Accclgration ® Displacement
viii:". Mass x velovity=
@ Mm-ncmum @® Speed - '© Force ® Power
ix. Inthe first condition ol equilibrium __
@ Fw=0 @ zBP=0 © s7=0 - ©® zF=0
. The value of *g" at the surface of mpbn is___
A @® 8.9\m/’scu2 : ® 9.8:11.’5(:0_2 © 4.9m/sec? ] 1.673m/sm:2
Xl Density ol mercury is gem®,
@& 13.6 ' @ 136 © 1360 @ 13600 -
xii. Doiling point of ice is _ | |
® 0°C ®, 10°C - © 50°C | @ 100°C.
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Time allowed: 2:40 Hrs . (IPreshi/ Rcap:)cuz-) ) Marks : 53
| o | blC'lle- B&cC
‘. Nr;tq.' 'lltempf wmcm Jg&d cucordmgly '

SECTION-B - Murks: 32

AN 2, Alrempt any LIGHT parts of the following, .4 parls curr) eqnul marl:.s.
| i. ‘ Why liquid have two co-ellicivnt of expansion? e
iil.  Giveun mamplc of an ucculm ated body moving wuh a umlorm speed
fHA Why arci is wllcd derived quatity? ,
4 iv. How can we lmd the vulumc ofa smull pebblc wuh the hclp of mcasurmg cylmdcr"
V. Write any {Jur dt.llel(.lbLb uf friction. ‘
vi, Why dm.s a helicopler has a sccond 1otor on its tml”
vii,  Whal pmvadb the force that produces cantrlpcml acwlcrauon in urbn?
vili, Detitie Power and Potential Energy.

ix. State two applications of almuaphu ic pregsure used at home..

X. ~ Ifahot picce of thu_k plass is dnppod in cold water, it breuks, Give reason.
"X, How heat losses are reduced in a Thermos Flask?
. SECT ION =C - Murks: 21

Note: II’IL'”'I” any 1 Hl\'LL qf tlw Jollowing, AII questmm carr y equal marks

.Q.N6:3.u): Define hydrostatic pressure. Also show that P=pgh

) rllow much heat is ru]uuul to mcu.asc the lcmpcmtuu of 0. 7hg of water from IO"( o 50°C?
Q.No:d.a) rDcllm, veclor quantitics. prlum resolution of vectors. 4

b) | A bullet of Jiss 35 grams lravcls at a speed of 1300m/sce. Caleulale its K.E.
Q.No:5.4) Uy usm;, law of universal grzwuauon dcnvc a tormula 0 lmd nmass oI carth,

b) A body is thrown vuuwlly upw.ud with a speed of 32nsce, l[uw high will it rise?
Q.Not6.a)  State ragld-cxpiuiu Newton’s thied law of motion.

b) ~What is the pressure off waler at & depth of 1550em?
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